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B FEX 238 ZMEEYU)
o Ei'i: o o oo (m) e
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ws | T K Wy | wmzps | AEY |
BEEs #A1 ®763
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71 1 |EEREX 998-1H1%x] 22l 8,604,428.8 8,604,428.8 | 975515
2. IR AL Z=dA|1el AHEEHE) =M
1) MEAYE A= 2YEHE) 52
7h EX|O|&AE =N FHE(HY)
EX|o|2A4 =
22| Nu" | X e Jellet Ha
71 8 H HEAT
e A 8,604,428.8 - 8,604,428.8
= NS 1,112,234.3 Zt 6,124 1,106,110.3
BA|M 1,744,079.0 ZH 5,505 1,738,574.0
EE3S molA| M 469,476.0 = 17,249 486,725.0
My | FRA | 998-1HX]
ol g 2FAA 170,828.0 - 170,828.0
O B|AlM 470,729.1 - 470,729.1
ELAA 1,407,453.0 Zt 6,902 1,400,551
7|EtA A 3,229,629.4 = 1,282 3,230,911.4
Lh EE2EEHX] EX|O|EA 2 ZAM(HE)
EX|o|2AEm
am [o] &4 = (m) _ H| 2
71 ¥ H A HAE
g A 5,730,018 - 5,730,018
2| A 822,661 6,124 816,537
SLAM 1,216,310 Zt 5,505 1,210,805
HolAlAE 207,187 = 17,249 224,436
2FAA 170,828 - 170,828
F3AH 406,567 - 406,567
EAA 171,658 Zt 6,902 164,756
7|EtA|H 2,734,807 = 1,282 2,736,089




Ch M= Xl7+ EX|O[EA = =AM (H

B83)

3= EX|0| 2H|E (m) Hl 2
g A 765,800
I IDNRS! 154,254
BOA|M 336,070
HOlA|A 242,150
7| EFA| A 33,326
ch EfEX|F EX|O|8A " MBS
as EX| 0| 8H E (m) H 3
g A 468,474.8
ZE|A|A 24,8473
BOFA|M 191,699.0
o B|A| A 64,162.1
7| EFA| A 187,766.4
Oh Z[ERX|7 EX|O|&A 1" =M(HEEZ)
a2 EX[0] A & (m) Hl 1
g A 1,080,957
I EIPNES| 13,896
ExAM 1,029,894
7|EFA| A 37,167
Hb) AAZX|F EX|O|8AHZ =M(HEES)
a2 EX|0| 2 (m) H| 2
g A 559,179
I EIPNES| 67,946
HOolA| M 43,289
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79| 1 | AYORIYE | MY RYE | L= 235m, B= 8m 2,224 - 2,224
HE ] 1 g5 852 L= 1,134m, B= 12~22m 14,799 3 1,322 16,121
Wz 1 E;jglzj"f fﬁ%“ L= 288m, B= 12m 5418 - 5,418
719 | 1 MEE ME=z L= 634m, B= 10~20m 9,745 - 9,745
218 1 SHtz SH2 L= 1,434m, B= 5~30m 22,766 - 22,766
7181 1 cy=2 E™Z L= 349m, B= 14m 4,935 - 4,935
719 | 1 L= Ho=z L= 464m, B= 12m 6,054 - 6,054
79| 1 |HOEXYE | HOEZYE| L= 183m, B= 12~15m 2,582 - 2,582
718 1 Aetg M2t2 | L= 901m, B= 12~25m 24,049 - 24,049
719 | 1 =32 =32 L= 705m, B= 15~20m 12,728 - 12,728
2181 1 | BEUHRER | EEWREE | L= 380m, B= 10~12m 5,055 - 5,055
7181 =2HE M2  |L= 572m, B= 12~35m 11,339 - 11,339
g | 1 |magomz magomz | T 2 B f0n 7,729 . 7,729
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| 1 A2 Mgz |2 g g e 4,463 . 4,463
218 1 gg}fég gg}fég L= 700m, B= 8m 7,353 - 7,353
7181 1 ﬁﬁg‘; ﬁﬁg‘g L= 482m, B= 8~12m 4,727 - 4,727
ME | 1 |27 TUR | 2| TYE | L= 92m, B= 12m 1,104 5 3 1,107
2181 1 | HUNIYE | AIHEIYE | L= 203m, B= 6m 1,217 - 1,217
719 1 BEE 42 L= 697m, B= 10m 7,179 - 7179
Mad | 3 FRHEM FRHEM 235 114-27 7134 | & 3,199 3,935
719 | 4 FRE2 FRE2 MNEE 476 10,112 - 10,112
718] 5 FAHE3 FAHE3 TS 57-6 2,117 - 2,117
7181 6 FAHE4 FAHE4 MEE 719-219 1,906 - 1,906
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EH MSAEE M E(m)
T&2| 7B $ A H|
Hs 71" HE 71 4 H A HAZ
719 | 96 | HHIMAIE | HHMAIL MEE 182 42,775 - 42,775
7218 | 97 g(ﬁif% gfaf%%)% HEZs 33 67,965 - 67,965
HX | - _Qgﬁl:f %tzs) - MBS 719-203 5580 | & 5,580 -
71 B A & 2 A 2,734,807 | & 1,282 2,736,089
7178 | 99 FHAIAE FAHAH MEE 292-4 57,534 - 57,534
71’81 100 |25 A ofd | =4 A o BEEs MBS 1,678,968 - 1,678,968
MZ | 101 = X = X i%‘é fd%%% %Q_% 998,305 | & 1,282 999,587
Hax F A 765,800 - 765,800
2 Al A E | 154,254 - 154,254
7219] - z1-3 L = 640m, B = 35m 8,040 - 8,040
71" - ti22-10 L = 1145m, B = 30m 34,882 - 34,882
7219] - F23-13 L = 720m, B = 20m 13,980 - 13,980
218| - S22-Ha L = 910m, B = 15m 13,540 - 13,540
218 - S22-Ha2 L = 890m, B = 15m 13,300 - 13,300
718] - S22-HMT3 L = 680m, B = 15m 10,370 - 10,370
18| - S22-HT4 L = 230m, B = 15m 3,550 - 3,550
218| - FE2-HT5 L = 640m, B = 15m 9,650 - 9,650
7219] - F22-HT6 L = 124m, B = 15m 2,039 - 2,039
218| - S22-H78 L = 240m, B = 15m 3,730 - 3,730
218| - S22-H79 L = 680m, B = 15m 9,950 - 9,950
7219] - FE3-H210 L = 230m, B = 12m 2,800 - 2,800
218| - FE3-HT11 L = 200m, B = 12m 2,363 - 2,363
19| - A21-HF12 L = 320m, B = 10m 3,110 - 3,110
18] - A21-HF13 L = 230m, B = 10m 2,340 - 2,340
719 | - A21-HT14 L = 280m, B = 10m 2,810 - 2,810
719 | - A21-HF15 L = 390m, B = 10m 3,840 - 3,840
18] - 221-H216 L = 290m, B = 10m 2,950 - 2,950
719 | - 223-®17 L = 140m, B = 6m 840 - 840
719 | - 223-H18 L = 180m, B = 6m 1,030 - 1,030
18] - FRHE MTS 538 9,140 - 9,140




=@ "o Hm)
T&2 | 72 MSAI2E $ A
Hs 71 H A HAE
FYAME 2 A 336,070 - 336,070
18] - SH(6-4) M-S 456-2 21,000 - 21,000
19| - = 8(6-5) Hos 4283-4 19,290 - 19,290
18] - S H(6-6) HIE 1429-2 17,970 - 17,970
18] - SH(6-7) M= 806-1 7,885 - 7,885
719 | - S 9(6-8) HMTS 807 6,890 - 6,890
18] - S H(6-9) M= 808 8,210 - 8,210
18] - S H(6-10) M= 816 7,790 - 7,790
2718 | - 0§ £4(9-5) HIs 44396 21,980 - 21,980
18| - 012+(9-6) HEs 1353-14 26,370 - 26,370
18] - 01 2+(9-7) MTES 786-3 5,210 - 5210
218 - ZZ 0L (7-6) HaE 4t285-4 16,950 - 16,950
18| - 220U A(7-7) HEE 1427-4 17,660 - 17,660
18| - Z20/L{(7-8) s 1345-3 23,560 - 23,560
218| - ZE0[L(7-9) Has At233-12 28,090 - 28,090
18] - Z=0/L(7-10) HTE £233-2 30,520 - 30,520
| - (EEEXTQLEHQBE);_') HZES 587 18,870 - 18,870
218 - SH(1) HEE 564-2 15,140 - 15,140
18| - S2Q) MaE 553 11,610 - 11,610
218 - SHA3) HTS 1385 27,700 - 27,700
218 - ZeHEE©17) HMTs 727-2 3,375 - 3,375
HoAd E | 242,150 - 242,150
218| - mol 9 A2|A[H(10-14) HTE 466 15,900 - 15,900
18] - mol gl #2|A|H(10-15) TS 458-1 19,820 - 19,820
218| - mol 9 A2|A|H(10-16) HMTS 198-8 4,680 - 4,680
8| - | HY R EHEAE10-17) HaZ &S 190 10,270 - 10,270
218 - mol 9 A2|A|H(10-18) HTS 186-2 7,140 - 7,140
218 - | HY S EHE2[AE(10-19) HEE 178-2 7,400 - 7,400
218| - mol 9 A2 A|H(10-20) HTS 681-2 11,212 - 11,212
8| - | HY R ZHEAE0-21) Ha s 723 7,107 - 7,107
718| - mol 9 A2|A[H(10-22) HZE 691 5,760 - 5,760
18] - mol gl A2 A|H(10-23) MTES 733-2 2,511 - 2,511
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T2 | 52 MSAIEE $ A H| 1
HS 71 ¥ H A HAZ
19| - mol 9 A2|A[H(10-24) M-S 1360-1 9,830 - 9,830
18] - mol gl #2|A|H(10-25) MTs 1398 8,810 - 8,810
2718 | - Hol 9 a2 AH(10-26) HMTS 805 6,612 - 6,612
18] - mol gl 22 A|H(10-27) MTS 820-1 4,020 - 4,020
218| - Mol I 22| A[H(10-28) HEs A30-3 2,410 - 2,410
21”8 - | FAE R EHAAE@11-1) MEs 81-1 38,528 - 38,528
218 - | FAE A HAYAE(11-2) HZE 1403-1 2,000 - 2,000
21”8 - | FAE R EHAAE(11-3) MES 790 7,000 - 7,000
218 - SL2HE(12) HMTS 823-1 34,880 - 34,880
18] - s28F(13-1) MES 607 8,370 - 8,370
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